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A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
thelr 23 Jlgr &4 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 = LH 4 bl 6,540 6,540 0
OZFEstAIY D182 =&
60,0003 *5H 3«73 6,300
OCE&=sE =2 F2XNACUE &ILA 044l
60,0003 x4H 240
303 Z& = 1,200 1,200 0
01 X432 1,200 1,200 0
OZFESRAQIHE L&R Al&S 1,200
-E S 500,000& »1H 500
- 300,000& »1H 300
- ed 200,000& x2H 400
405 THebH S| 344,000 413,600 269,600
01 XL = ZH SHI 344,000 413,600 269,600
OkL= 2xFH uH 1,350,000& »240CH 324,000
o8 ZgH 750,000 20 CH 15,000
OglAE AU 250,000& »20CH 5,000
#HHY DT 651,733 552,056 99,677
= 12,778
Al 638,955
AMAE 28 2 22 592,245 490,211 102,034
201 Let249] 199,421 185,573 13,848
01 At 22l 53,332 43,832 9,500
O1.det==2Hl 48,600
-HEEE HEREFA LEt=EHl 2,000,000 2,000
“HHFHDUB 2AS HAHOIT 7Y
150,000& =604 9,000
~S&PCEOH(V3, LHPCXIZIO0l) S/WAHS 4 &l
94,000,000 *40% 37,600
O3.2d==¢ 700
-—SHE4A BREAMZY HMOtM &A=
70,000& x10H 700
O5.2 &l 4,032
—HEFEANAE HARFA FA2ZRL S4A
7,000 <4 P« 122 «12& 4,032
02 8323l 146,089 141,741 4,348
O1.332LHA 42,000
~L20I2XANEIA RI(ENLES)
3,500,000& x12& 42,000
O3. A& ZHlI Xt 104,089
—2UStAIAE(H/W) SXE= 13,302
T 2LIetAIAE MY
151,156,000 *8%*1. 1 13,302
—2ULSAIARE (S/W) |FXE = 6,157
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MPolmel NEoH(ANTRHE/AUNE)
e HFFE D&
= _ — d =
SA - BB B () - MM - BES Ol &t o e
22U 2tAIAE WAS  15,000,000& #8%x*1. 1 1,320
Co2lietdle tEeERAE L HI
27,900,000& #8%x*1. 1 2,456
C SEHEAMZAMAAG(2UH 2ETE M)
27,054,540 #8%*1. 1 2,381
-RAEN2MAAE RXE 3,529
M2 MAIAE S/W
6,733,630 *12%*1. 1 889
T REXEAAIAE WAS
30,000,000& *8%x*1. 1 2,640
-2ct2 |FABS(ENZW, gu2el)
99,979,540& *8%*1. 1 8,799
-BEEAECIXN FANE=(SANAIXELE)
317,612,000 #8%*1. 1 27,950
-HEEE0B SEUSAAE RRE 7,718
X VILHH & Hl RAE=
90,000,000 *8%+1.1x7/12 4,620
2XH LTOH A HHl A2+
35,200,000& *8%x*1. 1 3,008
-gotEAIAE 3,049
° H/W 10,080,700 *8%=*1.1 888
° S/W 24,550,000 #8%*1. 1 2,161
~S 22l Al A8 (FMS) R X 2 2=
38,000,000 *8%*1.1 3,344
-22|02AMHIA AIAE RS 4,454
° H/W 15,909, 000 *8%*1.1 1,400
° S/W 34,700,000& *8%x*1. 1 3,054
-USBEtAIAEl R E = 6,715
° H/W 40,700,000& *8%+1.1 3,582
° S/W 35,600,000& *8%x*1. 1 3,133
-~Ho 2 AIAE HW SX2
11,000,000 *8%=*1. 1 968
BEZMAHAAE RXE+
61,196,000& *8%*1. 1 5,386
-NHE gatd(2) |2
56,396,360 *8%*1. 1 4,963
-G (FWSM) 2248 MH RAE S
16,640,000 *8%=*1. 1 1,465
-SSJ|gH/2Llet WASELIEHE S/We X2 =
41,764,000 *8%+1. 1 3,676
SNHEZHOAIAE S22
39,600,000% *8%+1.1%x9/12 2,614
202 o4dl 4,320 4,320
01 = LH o4 1l 4,320 4,320
OHESEEESAY FAAHI
60,0003 *4H 3 63 4,320




2N
X ZH -
L= B

el

dEsd
FEolmet NESHYS U/ ABHT)
#HEZE D&t

= — = 4 &
A EE R (E0) - HRAY - BAS of 4 o4 il HI RS2
207 SO0 100,000 0 100,000
02 & &HJH 2| 100,000 0 100,000
OAE OOl SH24 g38018 25
100,000,000& 100,000
308 XXM SO0IM 137,304 95,318 41,986
10371 2SoUst3 AN AL 137,304 95,318 41,986
O2UctAlIAE 22X /A
27,224,000& 27,224
OANZREIIE JaFdl 722
92,545,000 92,545
OREI20F sX2el 4,884,000& 4,884
OXNYAHISEHEAAY MBlANAD FA2
el 7,000,000& 7,000
OANZ M= AL FX22l 5,651,000 5,651
405 Ap&HF SHI| 151,200 197,000 245,800
01 A& ESFH SH 151,200 197,000 245,800
OdFEEANALY SEAECXN ==FH wX
120,000,000& 120,000
OXX=ZA SESMHAE WA 18,000, 000& 18,000
O2LUetAlA8 Abl 22l &4 (326)
6,600,000 24 13,200
ANZAHEEEDESFI(EX) 59,488 61,845 A2,357
2 12,778
Al 46,710
201 2gr= Sl 59,488 61,845 A2,357
2 12,778
Al 46,710
01 At 2t 2l bl 59,488 61,845 N2,357
06.8x= 59,488
-AZ T M= A 2= 17,714,000 17,714
2 4,025
Al 13,689
SAlER =3 uM ¥ FEEFAY
41,773,080& 41,774
2 8,753
Al 33,021
g2 3235 647,341 504,518 142,823
= 90,659
Al 556,682
d250ts 24 26,346 28,746 A2,400
201 2Bt2 S 21,546 21,546 0
01 At 22l bl 8,870 8,870 0
O1.eet=3Hl 7,400




A 3E2SA
H: ¥Polmet NESH(YBtT T /LB A)
el XeEe F2a (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
F2a0ls 9= goaal
3,000,000& 3,000
-2 30t2 Festa #ALE I SSHI
2,000,000& 2,000
DISHBHERY HU4LARE g
100, 0002 =404 Ot = 63l 2,400
03.2g89=¢ 1,470
-EE30ts Eadaet UsZA =Y
70,000 «1H x4 Al 2t *43] 1,120
-EE30s Eadaet dER3s =5
70,000 x5H 13| 350
02 2324l 12,676 12,676 0
O1.3322LHA 1,008
-IPTV Sl = 21,000 #4240t S +12& 1,008
OS3. A€ &l Xl 11,668
-H2380E HE=E sX2el
2,917,000& 401 Ot = 11,668
301 et a3z 4,800 4,800 0
09 BAAHIE &S 4,800 4,800 0
OZFEsis AJ¥E NEX3 2 F4A0
60,000 «3H =401 O = +23] 1,440
O&EZ30tS Festa &AL &4 04l
60,0003 *3F x4 Ot S+2& 1,440
O&Es0ts =20d2eli nsEFA N
60,0003 « 1«40 Ot S 2 »43] 1,920
F2stns 29 261,280 157,438 103,842
201 Let2d] 181,280 139,138 42,142
01 At 22l 147,780 101,020 46,760
O1.dBt=2H| 67,380
-2ty 29 Let=EHl 1,800,000 1,800
-AISIEES NN YUY - =2)
6,000« 130 2 Wt H «10& 15,600
=52 d2s UEuM 2
6,000 20 »404 Dt H «10& 4,800
-FRUHEE0EANE DN 2
6,000 *1208 «10& 7,200
-FUFE0SAE IS8 S/W P
200, 000& *2copy* 1204 2= 4,800
~DRPUMHE WA S/ 7
200,000 *8copy 1,600
T ANUETE DREY Polwy 242
110,000& = 12& 1,320
-2 s 420 g
35,0003 *3H 2 %12 1,260
-FHAHS BFH =clAd
1,000,000 29 S H S 29,000




2N
X ZH -
L= B

el

02 04

2SS4
Holmet e (33 /LeAY)
AxFo 32

SN HH-S(BN) - MBAY - B il HlnE2
O3.249=¢% 80,400
NI EESINF2ZAL =
35,000 *2 Al k60 0t B+ 15 «10& 63,000
-2 323 us LA=
35,0003 *2 Al 2+ x5 24 0H gt 8,400
-3DE2E WELAM = 9,000,000& 9,000
02 8323l 33,500 38,118 N4,618
O1.2Z22SZHA 14,400
-ABIEESt NS AIHUISH AEE
600,000 *23| & 128 14,400
OS3. A€ &8l Xl 19,100
SURE CLI|(PC)R X 22
1,350,000 *»250CH *4/100 13,500
-HICIREZREH KA 5,600
NOHES DS (I, UT)
700,000 =3CH 2,100
c SHE ZE0EAL (BT HA)
700,000 +5CH 3,500
405 RHoHF S HI 80,000 18,300 61,700
01 AL EZFH S 80,000 18,300 61,700
OF=Estussd =3 FH uiH
1,000,000& »80CH 80,000
FEO0SAEXNE(EX) 272,760 250,314 22,446
< 70,200
Al 202,560
101 Q1A ] 270,360 247,914 22,446
S 70,200
Al 200,160
04 DIt Z2XREES 270,360 247,914 22,446
OXN Y E B2 At XI AH 243,450
i al:] 50,0003 x20H 234 234,000
S 70,200
Al 163,800
-nsSH ¥ 2+Ald] 2,500 *20H x189 9,450
C4liE" JI2RES 234,000,000& *11.5% 26,910
301 gt L= 2,400 2,400 0
09 BALAHIE &S 2,400 2,400 0
OXNSHES2ZAF nEEI Ol
60, 000& x20H »23| 2,400
BaliST2OBBNSY (B X) 66,955 68,020 A1,085
< 16,459
Al 50,496
307 21201 A 66,955 68,020 A 1,065
< 16,459
Al 50,496




2N HRSAD
M HPEQITmet N (Y2 2N /UL A )
el XeEe F2a (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 At AMAIEE X 66,955 68,020 A 1,065
OXFES0Is 82|kt 66,955
-0l H| 1,270,000 x4 * 122 *90% 54,864
= 16,459
Al 38,405
-AEE J|2a82=2 60,960,000& x11.5% 7,011
-€& 3 1,270,000& *4H 5,080
HES0IS A (EX) 20,000 0 20,000
= 4,000
Al 16,000
307 212t0| & 20,000 0 20,000
o= 4,000
Al 16,000
02 A MAEE X 20,000 0 20,000
OdEF0IES S=23 5,000,000& *4JH Ot =2 20,000
& 4,000
Al 16,000
A MH A M3 278,604 313,971 N 35,367
HAMNOIE 89 ¥ 22 278,604 313,971 N 35,367
201 Bt A H| 200,364 195,731 4,633
01 AtR 22l bl 35,960 35,960 0
O1.2Bt=2H| 33,440
-EHOIX ERF& LBt=2Hl 1,200,000 1,200
—HHY L AMNE BE0AH P
180,000& =104 1,800
-2=0 ZHO0IX HAH| 270,000& *123] 3,240
-AlSI2etol WAAH MHIA HS
25,000, 000& 25,000
-SHAIZZ ) A OIE 2,200,000& 2,200
O5.= &l 2,520
-ZEHOlXl 22 022 R X 24
7,000 x3H*x10L x 128 2,520
02 3324t 164,404 159,771 4,633
O1.22222HA 56,928
-ZE=HOIXN d&= 4,100,000 x12& 49,200
-UMS(SEHAX)AME S 300,000& x12& 3,600
-2 0IEOIAHI A (AYHZEZIH|)
200,000& x12& 2,400
“SHAANEA AIEE2 60,000& *12H4 720
-2HIY EHPC BMAIEE 28,000 *3CH*x12& 1,008
O3. A& &8l = X bl 107,476
-AAX(L4, L2) SXES 72,575,000 *8% 5,806
-9ty K24 68, 156,000 *8% 5,453




A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
Chelr B AHIA 2435 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-AEsE |RAE 36,000,000 *8% 2,880
-DNSE E&EHl AL+ 17,500, 000& *8% 1,400
-HIFEXE 2 AIESEEH FANES
29,500,000 *8% 2,360
—HAAE ZH FXNE=2 139,650,000 8% 11,172
g Jtas £2E RS
62,000,000 x8% 4,960
—-EMC NS120 A &2/ X FXE=+
91,800,000 *8% 7,344
—-EMC VNX5300 A &2 Xl SXNE=+
79,000,000 *8% 6,320
—HAANAE SXNE 75,900,000 *8% 6,072
- AWIEANYH ¥ Z208 RIS
35,200,000 *8% 2,816
-Al 2 MG 2 FAMOIE SXIE
181,500, 000& *8% 14,520
-HEA E Z2HY FAMOE(Y Z8) 2
g2 88,920,000 *8% 7,114
-E3 AMOIE RXNEx 36,600,000 *8% 2,928
-2l=0 AAOIE RXNE= 46,200,000 x8% 3,696
-AIOIHZ 8 AAOIE SAE=
45,200,000 *8% 3,616
“NHESHERE KRB 39,455,000 +8% 3,157
A2l E-Mail (28t ZEEH)AIAE L ENS &
2 KA 68,270,820 *8% 5,462
UFHAEAANAY SA LA
32,000,000 *8% 2,560
—-E-book AlAE RXE 40,000,000 8% 3,200
“HXAIAE D EHOIXN s FAE
200,000 128 2,400
-JI2E 9 JHAIHE EHERE |RAUES
28,000,000 *8% 2,240
202 odl 3,240 3,240 0
01 = LH o4 1l 3,240 3,240 0
OQHYE2Y HRF=ANH
60,000 *3H »32! 63| 3,240
207 RO ] 50,000 0 50,000
02 & AR I 50,000 0 50,000
O&ANAE S& &l 50,000,000& 50,000
405 XtabFE SHI 25,000 115,000 290,000
01 XA =S FH St 25,000 115,000 290,000
OL=Z: 429X WX 25,000,000& 25,000
FESHIIE &= 891,483 879,021 12,462
sAAE 22 248,107 254,795 A6,688




2A: BESAY
MM HEQITp DTS (LS I/ UHY)
e HESAIIE =25 (SH2:EH)
2A-F3H-H2A(3) - MY - BES O] Ak %Ei Hns2Z
201 L2 217,827 235,915 A 18,088
01 At 22l 7,960 9,640 A 1,680
O1. gt 24| 4,600
~SMXNFYRFA LBt EHl 3,600,000 3,600
-39 d SEFH2E A28 7Y
1,000, 000% 1,000
O5.3&Hl 3,360
—SAXY HRFE S
7,000 x4+ 10« 128 3,360
02 324l 209,867 226,275 A 16,408
O1.23223LAA 170,139
~H23 A2 (AIW)
21,0009 %1303 & %128 %11 36,036
-OIHUANS MEIMZ(BIAE)
314,500 x 15| &M * 128 1. 1 4,152
-RINFE SN FRILHB(2H-TH)
286,000 25| &« 128 %11 7,551
-2BAE ol2E 122,400
B2 3,500 «100S «12& 4,200
S 35,000 *143] H«12¢ 5,880
DOD AFE 2 (AILH) 80,000 *605] & 128 57,600
00D ALEZ (22X, 5)
120,000 «384! Dt A %122 54,720
O3. A& & HIS Xl 39,728
ME= DI 250,000, 0002 *5% 12,500
SIZEFHA RNES(AZA, A 23])
1,000,000 1,000
DX SN2 120,000,000 *5% 6,000
-HME 2 DAIAY S22 44,550,000 «5% 2,228
~O2HH QUL (HWELF )
2,000,000 2,000
-SEANEEY SRS (UEAF9A)
5,000,000 5,000
SJIEHEH L M2 SN2 5,000,000 5,000
SAUSMER SN D HIHE (2F, A A)
1,500,0008! x4 3] 6,000
202 04 5,280 6,180 A900
01 22U o H 5,280 6,180 A900
OSAXY LR=AAYI
60,000 *4 % +32 %53 3,600
OAHEZ2S HESAZA AIRE AR 0l
20,000 * 1«7 x 128 1,680
405 XHAHE S| 25,000 12,700 12,300
01 ML E2EFSY 25,000 12,700 12,300




SN HESAD
HE: HPTmet DESHUNIIHT/AUHT)
Sl ESAIIE &5 CERED
2 S 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
oUxgsz & |pPE(NE, DEUH)
250,000 x200CH 5,000
O399 2003 AAE WM (=3l94a)
20,000,000 20,000
HESHEY 229 604,176 515,176 89,000
201 £Bt24d| 495,176 491,176 4,000
02 2%l 495,176 491,176 4,000
O1.2Z2222 A 401,823
-AESNY A 401,823
C HOIHEZ 342 1My - 232 H)
810,000 25| & 128 *1 . 1 21,384
“ HOIENE 3182 MSHES ML)
484 000& *333| M *12& *1. 1 210,831
* HOIHEZE 382 M(IIEIAIS A)
394,000% *185] &1+ 128 *1. 1 93,615
* HOIHEE 362 2MATFZAISEA)
303,000 x 193] &« 128 1.1 75,993
O3. A& &H| S X dl 93,353
-N/WAHl X2 2=l 700,000,000 *8% 56,000
-N/WRoHECHE XISAIAE S E 2|
66,000,000 *8% 5,280
-|IPTAIAE R X2 4=H| 30,909, 000 8% 2,473
-2 Sol&H K244 269,990,000 *8% 21,600
—HERIANZ =8I XH(2F AL, SH
=) 2,000,000 x43| 8,000
405 XHoHFE S HI 109,000 24,000 85,000
01 XA 2B F S| 109,000 24,000 85,000
OHFARE2 “SALXAE M (poe2dport)
3,000,000 «8CH 24,000
O83d wEZH| (C4507) L Al
35,000,000 = 1CH 35,000
OASS&EHl 0ls& U4ARX LA
25,000, 000 x2A! 50,000
SHEXYE ZUHIEIIATGY =AY 39,200 49,050 AN 9,850
308 XHXIEH SO0l & 39,200 49,050 N 9,850
07 AXSHHZ2ESS S 39,200 49,050 A9,850
OsHEXNY ZHYIIYXY 2SAIEH 2
= 39,200,000 39,200
SHHEY 7 161,095 217,671 156,576
& 49,267
Al 111,828
= H E A 47,364 44182 3,182
101 121 H| 17,614 16,352 1,262
04 JIZtHIZ2ZXNEE 17,614 16,352 1,262




A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
el SALEE 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OSHZEAZR B=X 6,455
i ral:] 48,2403« 18 120 5,789
AHEY D2RE S 5,789,000 x11.5% 666
O& - Mzdsa&= A 11,159
-4 H| 52,1203 *4F » 122 43| 10,008
-AHEE JI2RE3 10,008,000& *11.5% 1,151
201 Let24d] 22,670 21,830 840
01 At 22l 21,920 21,080 840
O1.dBt=2H| 19,400
-24E SHXIZ A dBt=2| 2,700,000& 2,700
-2 - MEYEAL R AL SHZ A 9,900
TAEE QL2 ¥ ZAE MA
603 *40,0000H 2,400
ZAEAIAE, EANFEE, JMYHERA
AN 10,000& x55 +50% 2,500
MSMZAL BN 22t
5,000,000& =13l 5,000
—SHAE g2t 20,000& 2502 5,000
-Z - HXQ SEXA ZAME S eS|
1,800,000& 1,800
O5.=2 &l 2,520
—SHEALRZ=E OFA22R 24
7,0003 3 +10 128 2,520
02 =224l 750 750 0
O1.2Z22SZHA 750
—SHHE ¥ ZAMEDAN Y8 2ERZF
2,500& 300 750
202 o4dl 3,240 2,160 1,080
01 = LH o4 1l 3,240 2,160 1,080
O SHIAN d2FE Wbl
60,000 *3H 3 63| 3,240
301 AP B A 3,840 3,840 0
11IIEHEAS 3,840 3,840 0
O& - HMxg SSXA Edl3
8,000& 12000 & Xl x4 3| 3,840
ASHZEAHER) 75,875 138,307 A 62,432
< 22,767
Al 53,108
101 @144 dl 20,315 32,448 A 12,133
< 6,099
Al 14,216
04 JIZHHZ2XREES 20,315 32,448 A 12,133
OAFS M= AF 21 24 8| 18,915
- Ab2el Xt 54,6103 « 12 *27 2 «50% 8,847
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2N
X ZH -
L= B

el

- _ _ RE]
S EHE . (BH) - NEAY - BAS %Eﬁ HR=2
= 2,655
Al 6,192
-= 22l At 54 610 2% %27 x50% 1,475
o= 443
Al 1,032
- AKX 22| At 49,8103 x3H x27 L *50% 2,018
& 606
Al 1,412
-y 49,810 11 x242 x50% 6,575
= 1,973
Al 4,602
O4HEE JI1H282e2 1,400,000 1,400
& 422
Al 978
201 B9 55,560 105,859 A 50,299
o= 16,668
Al 38,892
01 AP 22| H| 55,560 105,859 A 50,299
O1.48t4=2H| 55,560
“NYHEMN HRHBLLE
52,120 *»82H x26 L x50% 55,560
= 16,668
Al 38,892
BA2E ASIEZAHERX) 37,856 35,182 2,674
& 26,500
Al 11,356
101 Q121 H| 6,759 6,287 472
& 4,732
Al 2,027
04 JIZtHIZ22XNSE S 6,759 6,287 472
OXANZ2IX &g 54,6102 4% %14 3,059
< 2,142
Al 917
ogaEuzda ¢ 49, 810& x71L 3,537
& 2,476
Al 1,061
O4i2E JI1a8<4=2 163,000 163
= 114
Al 49
201 et 9| 31,097 28,895 2,202
o=} 21,768
Al 9,329
01 At 22l 30,340 28,895 1,445
O1. Y4 gH| 30,340
SAMNEE ANBEAN YD (LS
52,1203 x33Y x 12 20,640
& 14,448
Al 6,192
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